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ANDAMAN AND NICOBAR ADMINISTRATION
wfa (wesiRan)-—a—ushasr wesrdaffraesaie
OFFICE OF THE SECRETARY (COOPERATION)-CUM-RCS
drang firs/ V.I.P Road, uldstay /PORT BLAIR - 744 103 i

""""" G W l&
d Port Blair, dated the , January, 2019

PRESS NOTE

The written examination for recruitment to the Post of Sub-Inspector ol
Cooperative Societies shall be conducted on 20.01.2019. The said examination
shall commence from 10.00 AM to 12.00 Noon in the 17 examination centres af

Port Blair on the scheduled date.

Concerned candidate are informed to be present at their respective
examination centres well in advance. NO CANDIDATES SHALL BE ALLOWED TO
ENTER IN THE EXAMIANTION ROOM AFTER 9.30 AM. They are also advised (o
bring Admit Card, Photo Identity Card and one recent passport size photograph on
the day of examination and to abide by the instructions overleaf of the Admit Card
No electronic devices, mobile phone etc will be allowed inside the examination
centre.

It is also informed that the Roll Number issued to the candidates are seven
digit number but the OMR sheet has a space of only six digit for Roll Number.
Candidates are advised to omit the first digit i.e. “5” of their Roll Number while
writing it in the OMR sheet. The answer sheet of the candidates will be verificd

based on the Ticket number allotted to them and not the Roll Number.

The question paper and model answer key shall be fiploadgd in the website

of NIC www and.nic.in on 20.01.2019 by 5.00 PM.
G

Secretary (Coop)-cum-RCH

Copy to:-
1. The Chief Editor, The Daily Telegrams, Port Blair with the request to publish the
Press Note in the The Daily Telegrams.
2. The Chief Editor, Dweep Samachar, Port Blair, with the request to publish
the Press Note in the Dweep Samachar. .
3. The State Informatics Officer, NIC, Port Blair with the réquest to upload the
press note in the website of NIC and thereafter alsg upload the question

paper and answer keys on 20.01.2018 (Sunday) by 4/00 PM.

A\ \
Secretary [Coop}-c%m-RCS

N
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PART—-A: GENERAL AWARENESS 3
1. Which of these can multiply only in living 1 % @ F1 S=a, od o S8R &
cells of animals, plants or bacteria? . Shfaa FREE #F aft v gFar n
. A) Fungus A FFHA
B)  Protozoa Bl wresian
C)  Algae c) darer
D) Virus 0) amww
2 Who among the following discovered the 2. fofafea 7 @ [E s e o B 0t
. laws of planétary orbits? st £ @ £ ! ]
- A)  Galileo Galilei A dfafear A
B)  Johannes Kepler B)  SEmw R
C)  lIsaac Newton O s e
D)  Nicholas Copernicus D) AFeE FREEE
3. Which is the smallest of the world’s 3. g & AFEERT & ¥ N § AEEER §e
oceans? ¥ e B
A)  Atlantic ocean Al Feqifts AEENER
B)  Arctic ocean B  w&Rs mEmnw
C)  Indian ocean 0 Rz mEranR
. D) Pacific ocean D) werid FEERR
4. Where is the sport's—stadium, (;i.reen Park, 4. N7 9 Frer-vud Far ug &l
located? : :
A)  Jamshedpur . A) SHIETX .
'B) - Cuttack B o= :
C)  Kanpur C) HAGR
- D) Patiala D)  gfewrer
5. Who has been appointed as the S WRE 2018 F R wsdw aRar  smaer

Chairpersc_m of National Commission for
Women(NCW) in August 2018? .

(veHissey) & Heawr & ¥ A PgEd e
T

A) Chandramukhi Devi A) ﬂﬂ'ﬂ'@‘ &

B)  Girija Vyas 8)  farfew I
C)  Kamlesh Gautam QO Fxder taw
D)  RekhaSharma D)  Y@r et
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Part-A: General Awareness
6. The term ‘double fault' is associated with 6. 3ad wec aee By A T 3T B
which game? :
A)  Tennis A aw
B)  Football B) reater
C)  Rughby C) ;ﬁi’r
D)  Basketball D)  arearw

7. Name the animal that has both cutaneous
and pulmonary type of respiration.

A) Frog

B) Earthworm
C)  Fish

D) Crocodile

8. When was Amul registered as a
Cooperative as a response to the
exploitation of marginal milk producers
by traders and agents?

A) 14" December 1946

B) 14" September 1946
€) 15" December 1946
D) 15" September 1946

9. December 4 is celebrated as Indian Navy
day to commemorate the success of
A) operation _trident
B) operation blue star
C) operation vijay
D) operation pérékram

10.  Which is the highest literary award of the
world?
A)  Nobel Prize

7. 3U Sied T A qAFY I @ v Sest @
QWHA AT 8T

A Pz

B &

G
D)  FeRwes

8. mmmmmwmﬂ
'a;em*,mmmﬁmﬁmﬁm
aﬁmﬁdﬁrﬁrﬁrﬁmm‘

Al 14 R 1946
B 14 RdeT 1945
Q 15 R 1946
D) 15 RAdaw 1946

9. ﬁm@rwﬁm#4%m’ & HAT
a‘mmféaua:wﬁmamr%?

A R g
Bl 3ifqYerss & T
C 3t e :

D) 3ot gew

10. mawmaﬁmwﬁ#mh
A) | AR T

B)  Pulitzer Prize B gfder s -
C)  Magsaysay Award O HE wEw
D)  Booker Prize D) T wWwEER
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HET &: HTATTATETRR AT

j & G

The time required by moonlight to reach

11. ﬁmﬁmrm‘rq_ﬁtm@&:ﬁm
the earth is Hﬂ‘ﬁ?ﬂ‘.w i ;
A)  1second A 135z -
B) 13 second 8 13 ¥
C)  2second O %=
D) 2.3second ' D) 23%Es
12. Which is the largest fresh water lake in 12. gra & g a2 Ao o e T @ )
India? ;
A)  Dallake A za A
B)  Chilka lake B} R 3w
C) Mansar lake C) A A
D)  Wular lake D) 'iLFiT S
13.. The permanent members of UN Security 13. ;:n;ag ST {LET gftve & amrh @e=
Council are : _ FaFF A H !
A)  China, France,'Russia, UK and USA A) e, wiE, w9, & 3R guar
"B)  China, France, Russia, Canada and B) K, Wi, w0, Famr 3R JuaT
USA : : A
C)  China, Japan, Russia, UK and USA Q A= S, &, 3% 3t guge
D)  Germany, France, Russia, UK and D) ST, T, ¥, % 3R guav
USA
14.  Who was awarded the Nobel Prize 2018 | 14. o¢ a§ & I F AR F A g
i':. l;h:rsLics at :g_'e; 96, becoming the oldest 2018 ¥ HEATRAE BT T4 FEOE Ty AT
ureate? :
D REFR o #i §
A)  Arthur Ashkin Al T e
B)  Leonid Hurwicz B fau=E afaw
C) . Raymond Davis -0 s 3w
D)  Donna Strickland D)  grr feewdls
15. The compound used in antimalarial drug 15. ofewmafae gar & @9 fFar S=F amer
is : i PleT-AT 82 !
“A)  Aspirin A} ofegfR=s
B) Neoprene B) e
C)  Chloroguine €  FaRfFes
D) Isoprene D) smEERE
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16.  What is the largest animal ever knbwn to 16. odr 9T ;{135: FaH I AAN FAT 8
exist on earth? j :
Aj  Woolly mammoth A) e Rremerer gl
B)  Megalodon B) . AR
C)  Tyrannosaurus € IIREERE
D)  Blue Whale D) A =T
17. What were the first names of the Wright 17 T[‘s?.' 3:‘]3'£ﬁ FT Ugd ATH FT J =R g
brothers who invented the first powered St 7 g SETS T SRR R A
aeraplane? = ; :
A)  Heinrich and Eli Al s AR Tl
B)  Alanand James B) . ude HR IFH
¢)  Wilburand Orville O faes R ARER
D)  Richard and Jacques D) =g AR S=d
18. Which of these Delhi landmarks was not 18. Fpret gER = ¥ FiF A Red v EE
built by Mughals? _ SATAT AT AR
A)  Mughal Gardens A) 7T EEG
B)  Humayun’'s Tomb B)  gHRY F FHT
~C) ~ RedFort Q e e
D) Jama Masjid D) s AfESE
19. Name the Indian satelhte launched by 19. 29 FdeX 2018 H TN @RI H1S Ao T H 36
ISRO on 29™ November 2018 along with m s &4 3t ¥ @y aRe v o
30 micro and nano satellites of eight
other countries. : T '3 ol kil Iii[s i
A) HysIS A) HyslS
B) IRNSS-11 B) IRNSS-11
C) GSAT-11 i C)  GSAT-11
D)  GSAT-29 D)  GSAT-29
50, Where did Flight IC814 take off from | 20. 1999 3 FaTST 1C814 VeI HrTETT FT FUR A
which was hijacked to Kandahar in 1999 frar 7T & 3 SO R 3 SaeT AT 3 el
and was scheduled to land in Delhi? : :
T F 3= HT A
“A)  Doha, Qatar 3 A) 2T, FAR
B)  Dhaka, Bangladesh’ B) e, diFene :
C)  Kathmandu, Nepal @] m, Jard
. D) Islamabad, Pakistan D) sEETEE, WiREd=
o
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T & ATATI AR AT

In which sport does Swapna Barman

e B 2]l. FYAT aAA HAUSRT T W FE @9 A
represent India at the international level? SR @ SRR e y
A)  3000m Steeplechase Al 3000 AT WEgERST
B)  400m Hurdles B} 400 A EESTw
L C)  Heptathlon Q) EoereranT
D)  Hammer Throw D) gaT or
22.  Who, according to the Anti-Defection Act, 22. GALRvEus U ¥ HARF, UF o
e Tl aubry o dcewhehrs | g 1 e & wn i e
disqualification due to defection? m 1 3ffas sfewR i
A) President A sl
B)  Speaker B)  3mewer
Q) Election Commission C) g HTIET
D)  Supreme Court D) {MH FE
23,  What type of disease is Asthma? 23, reaET BT O #r frad
A) Lifestyle A Fhas & : _ ;
B) Infectious B wwEew
- C)  Deficiency O e
D)  Allergic IO e
24.  Madhya Pradesh shares border with how 2. mem Ry Ay usat ¥ oarw @ HI=T
many st;tes? Far
A)  Five Al g
 B) Seven B) ma
" €) Three 3 TG - -
D) Four D)
25.  Justice Gitah Mittal became the first ever 25. RITEI'I{ﬁ-T ar Aad e 2018 & Wy
'_n_,'_.'qman Chief Justice of which 'H_igh_ Court Tou ST # ggdr ARar 7ET FHTiITtﬁQr
in August 20187 # 7
'A)  Jammu & Kashmir High Court Al SRR Teq FTTEY
‘B)  Rajasthan High Court B  oreys 3T SO
C) - ._I(erala High Court 0 o 39 AT
‘D) DelhiHigh Court D) feadhr ed AT
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26. Which electric car company is named 26. &g wigg Faaga FR FYAT F AH
after a famous scientist and inventor? . yftg S AR anfasERe ¥ AT 9T @
T &2
A)  Fiat A fue 7
B) Tesla B) - Eam
I C) Toyota C) e
D)  Chevrolet D) Qaw
27. Who is the first Indian Woman Cricketer : 27. &20 e Mg a;q‘ & dF oI
| to score a century in T20 Cricket World T SR Afear feex Ha 5 3
Cup?
A)  Jhulan Goswami A) E RO mEE
B)  Mithali Raj B) fRurdruar
.€)  Harmanpreet Kaur Q)  gFEENd N
D)  EktaBisht D) uear fase
28.  Which of these rivers is not among the 28. = A F7 @ 78 34 T ARAt A nfEe
five that give Punjab its name? A6 & B dore A A H
A)  Ravi A)  TEr
B)  Sutlej B  waes
C) Beas 0 ==
it D) Tawi - D) @dr
29. In which author’s honour did Mahatma 29. 1910 ¥ ef&yor 3nPrer F graare @ & mgzﬁ *
: Gandhi name his colony/ashram in 1910 T & FRTHT T & HOAT e 3ﬂ;!|1=r-ﬁ
in Transvaal, South Africa?
A) Maxim Gorki A) AfFga THf
B) Karl Marx j B) @Il AIEH
C) \Voltaire C) gfeeaT .
D)  Leo Tolstoy - D)  forat elewela
30. Where is leaning tower of Pisa Iocafed? 30. Nifefer eay e 9rEr Fel BUd &
A)  France A)  wiE
B) Italy B)-" 3ol
C)  Germany )
D)  Spain D) w
8 e

e rr—————
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Part-B: Logical Reasoning " ANO1SIRCS2019
~ PART-B: LOGICAL REASONING
31, From his house, Lokesh went 15 km to the | 31. 9 B W, A6 3cal T 7T 15.ﬁm’rwﬁq
; North. Then he turned West and covered 10 T 9RTH e A3 FT 10 el Tam R 48
. km, Then, he turned South and covered 5 km. 2 M
Finally, turning to East, he covered 10 km. In afator ﬁmﬁgwms fe6eAl o TelT| 3T
which direction is he from his house? 94 #r 3R #za, dp 10 el oo | 319 a7 3w
m#f&m?ﬂnﬁgv
A) East . A) '{5
B)  West _ B) ufSgE
Q) North e 3eaT
D) South D) Zfgor ?
32. If in a certain code language ‘ENERGY’ is | 32. -qﬂ-' . ARaa s # ENERGY® &1
written -as HQHUJB, then how will ' Z :
HQHUJBF &9 # &fzd frar amar & ar
‘DAUGHTER’ be coded in that language? : :
: i v ‘DAUGHTER' #I &g &9 # Ffsq. frar
7 A GDXJHWHU A) - GDXJHWHU
B) GDYJHWHU B) GDYJHWHU
G GDXJHXHU . ) GDXJHXHU
D) GEXJHWHU D) GEXJHWHU
33.  On a Sunday morning after sunrise Sunil and | 33. vs faaRw & g Iﬁ@‘fﬁﬂ' & . J1E W&ﬁr
L o o othr o 01k | v o & o
a's ow y to ;
Sunil, which direction Sunita was facing? H GBS &E & aﬁ 3R o,
, s , H:har e e & m &
n i ~ B)  West z B)  gfRmw
: SEHE . N G e : :
| - D) south DL bl ;
f 34.  Which one will replace the questl;on mark? 34. ge Rgd & WH W a:.'t;[..m e 3eEtn
; e s E:
g 3 . . :




part-B: Logical Reasoning ANO1SIRCS2019 HET@: Al iaa

Q.No. (35-37).Two buses, £ and G startsfrom their respective terminals D and H rqspective!\k. F goes 4 km
north before turning rightand travelling 6 km east to reach city T. From there it goes 3 km north then turns
left and travels 4 km more to finally stop at city U. Bus G starts from terminal H goes 9 km north to reach
city S. From there it turns left to travel 4 km more before turning south and travelling 2 km more to reach
city A, Terminal H is 10 km to the east of terminal D.

: q.ﬁ.(as-a?).aw,Fmem%aﬁaamr:Daﬂ?ﬂ#ﬁmm%wmmgsﬂﬂmaﬁ:m
mﬁaﬂtmﬁr%aﬁmm‘mﬁ@aﬁﬁvemv@ﬂaﬂTE@haﬁ#agzﬁaﬂ_maﬁraﬁrma
g A 75 31 3 4 20 U o 5 4 R AR AT vt 1 9 G i 4 A e
saasq‘gaﬁ#ﬁ‘-‘mgMWaﬁrmmméﬁﬂaﬂﬁWﬁmﬁﬁﬁmaw%m4ﬁm‘raﬁ_ﬁ%m
mAaa?q-g‘m‘fa:mmuﬁ:mzxﬁrm?lzﬁﬁaﬁnaﬁﬁaﬁnﬂ;_mﬁwqﬁﬁwtl

35, According to the route map, which city they’| 35. @l FF & AR, 3 2T sar @ e

?
both have to crosss & I &Al 93dT 2

A} T Ao T
By el Bji 8
Sy e : 5 : SR
D) U D) U,

36. if bus P is standing 2 km to the west of | 36. afr aw p eH=Ad RE_; H¥ 2 ey offew &

terminal point H, what is the distance @ E s ﬁ§ Dt 98 P& &g &1 =EaA
between point D and bus P? 3 ity

A _ | 7 Rt &
A)  15km ; : A) 15 T&RaT
B) 13km : B) 13 T
i " e O L : o 17fEk
43 D) None of these M D)’ A0 #vﬂﬂ? EE

e

37. What is the total distance covered by the bus | 37. &5 FgdRl oJ £ T A Xy o= 27

F?
A)  15km ol A) 15 frett
._%.‘- B) . 13km | | ® o
Q) 17km : ) 17 feRett
D) 19km G ; D)  jofmA

"_'_T'“—w
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38. 'WI"Eatv.aIue replaces "?" in the below figure? - | 38. =t & 312 & " & BT W FAT Te=T

39.

25200
3600
27
120
A} 350
B) 600
0 320
D) 500

Pointing to a lady, Mohan _s_aid, “The son of
her only brother is the brother of my wife”.

* How is lady related to Mohan?

i

85

grem?
5
5
10
30
A) 350
B) 600
¢ 320
D) 500

mnﬁmﬁéﬁam?m#ﬂ.
"THS UHATT WE F AT AN G FoswE
&l 1ﬂ%ﬁ¥'ﬂ'?ﬂ%ﬁn T FT FGY &2

A) Mother’s Sister
B) Grandmother

C) Mothe.r—in-iaw

D) Sister of father-in-law

: Find out the alternative figure which colntains
-~ figure (X) as its part.

Al T § g
B) =&y
I
D) YT H qET

40. d=foas oeT &1 9ar

nfEer %l

R

b

&

#H

(X)

(1)

@

3)

4)

e fred IR ()
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41.

42.

43,

ke

B

s

If BLEACH is coded as LBAEHC, then how is

CALAMITY coded?
Al ACALMYT
B)  ACLAIMYT
C)  ACALMITY
D)  ACAILMYT

Arun runs faster than Elias, but not as fast as
Dinesh, Dtnesh runs faster than Chandar, but
not as fast as Vikram, Who runs fa.f.test'J

Chandar
' B) Arun
C) Dinesh
Vikram

D)

In a row of 25 children, John is fourteenth
from the front and Nisha is ninth from the
back. How many children are there between
John and Nisha?

&) 12
B 1
GY i
D) 4

_ \Which one will replace the question mark?

a2.

43,

i I

41. =fr “BLEACH” ® LBAEHC & Fq F FET

5T I ar @Al “CALAMITY™ a g w9 A

-A) ACALIMYT
B)  ACLAIMYT
C) = ACALMITY
D). ACAILMYT

guT sfararE i’fﬂ?m?,ﬁﬁ?ﬁ T &
foaan a5 el frder HeT ¥ A9 asdl §,
ﬂ%ﬁw%ﬁaﬂﬂaﬁﬁmﬁlm

s @l atsar 87
A wHe

B 3ruT

O R

D) :

fawe

253@&%%@:&,3{#31:1#14&%«
3_mﬁw.mamawmwahmf:«m:
fad fFaa T

B)
Q
D)

oW P M

44. 'maﬁﬁ%mmwaﬂﬂ-ﬁﬁwm

e

A) 18

Y
€9
6

D)

i

18 X
B 12

gj% .9

D) 6

12
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.3- Q.No. (45-46). Each of the six frlends P,Q,R,S, Tand U scored different marks in an examination. R scored
more than only P and T. S scored less than only Q, T did not score the least. The one who scored the thlrd -
' hlghest marks scored 92 marks and T scored 58 marks.

sr.'?r. (45-46). ©: AT - P, Q, R, S, T&ﬂtuﬁﬂm#ﬁwﬂw#ﬁmﬁmﬁm RAFIAP AT A
: mﬁmmf?ﬁts?moﬁmmm%& Tamm%maﬁ%&lﬁrﬁmmm
3w m92mmﬁéﬁ3ﬁTT#583ﬁWﬁﬁ'l

45. ' Which of the following could posﬁil:_riy be Rs 45 Geafaf@a i I-REFT UIcaTF 3T 24T %‘3

scare? : : -
e L : A} 95
B 84 B 84

c) 61 ) Q) 61

D) 86 , D) 8

46.  The person who scored the maximum marks | 46. og cafea o :ain’.* FoF ¥e greg &, 38

among them, scored 13 marks more than U's UF 133 HOE g B S @ areE
marks. Which of ‘the following can be S's p

S PR A IS EEa R
‘A 96 : ' A 96
By ign _ . Bl 60
e ity | ST I ) :
) TSR 1 D) 78 _ :

47, _' Find out the alternative figure which contains | 47. =g ser F7 gar wong ﬁqﬁ 31@% (X)

- figure (X) asits part. e gl
b XX
v 0 Mm@ 6 @

a1 ' el

a2 B 2

0 3 C) 3

_'D} 4 D) 4 .
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ST AfeiaaR

Q.No. (48-50). Sal:m starts walking from his hous

3 km. He then turns south and walks 3 km again, t

south and walks 6 km and reaches his college.

.8, (48-50). aﬂﬂaﬂ:?at#mﬁwsﬁﬁm? T

e 3 km towards north, then turns east and again walks

urns east and walks 4 km to reach a park. Finally, he turns

qﬁﬁmnﬁmmﬂmg.a—gm =

mﬁmmsmmﬁmv&ﬁmm4mﬁmﬁﬁq§ﬂm%t g &, ag efEror & H

Ws%mmm@m

48, in which direction is his college from his | 48. St FETeaTer & S o Y R ¥
liome_? 3
A South P
 B)  South-East B) g
C)  North-West c) Tear-aRTH
D)  South-West D)  zfEvraREH
49 What s the total distance walked by Salim? | 49. et & Fo Frcet a'-gr T &
A)  14km A R
._B} f2km B 12fl
IC) 19 km q  9fFA -
D) 18km > D) 18 &t
Sd. To which direction is his home frofﬁ thg park? 50. iy & HE faRmr A IEE | )
e south : A o
B)  South-East B oL
C)  North-West Q) m'{-qé‘im
D) , West l D) gfead
14 e
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‘ 51. . Which one will replace the question mark? ' 5k mﬂ'ﬁ?ﬂ'ﬁmﬂiﬁﬁ.ﬁf HEar s
0 .
2
?
A) .5 A 5§
*‘: 'B) 8 B):- -8
Q4 0 4
DIZR3 D) 3

52. Choose the alternative which closely | 52. d=fogs fFeT z_.}.—:; St R s e &

|
:

. ; resembles the mirror image of the given TR Z-?'HT%'@HT %
combination. : :
_ EFFECTIVE
A aviTomIE : ! A} 3viTosTa
B) 3yzomva . ' B)  37330TIV3
C)  EVITCEFFE ' - O EVITCEFFE
D)  3VITO3F33 : D) 3vITO3FA3

53. H_bw many days will be there between | 53. 18 3Ezay 2015 311-{ 1 & 7 2016 & '5'111'1',

: 18%0ctober 201510 1*March 20167 | gy b gy
A 128 [ D (PR
B) 131 = B 13
AR - bl dag
D) 134 ' e oy 0 134
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54. In the following question, a number series is | 54. Rr=AfRAf@T wea &, FEarst $r Qa.—m aras
Ly (&
given, éfter the number series, a num_ber then : ﬁwﬁ@r{m#a@ o e, A 2]
A, then a number and then C, D'and E are ; _ _ :
given. Find the value of E based on th_e ik : SDIR IR AT el
pattern of the original number series? & AWl & FIET & HUR T E° & #ed A
' e
P97 T a8 -] 71 ] 108 ‘ 155 | 212 ]
34 A |78 C & o k8 T T
A} 200 A 200
B) 219 8) 219
¢} 218 G g
D) 321 i D) 321
55. Choose the alternative which closely | 55. ¥=xfogs ﬁm P U v AT & '.
: T :
resembles the mirror image of the given St o S v 8
combinatian. I ' :
: ANS43Q12
A)  AMZREOLS Al AMZHEOrS
B)  Stoer2MA B SrOes2nA
€} 2HUAEMOS! )  2UAEMOSE
D)  tSphEAM2 D) tsSOMEAMR
56. If RESCUE is coded as SDTBVD, then EROSION | 56. zfx “RESCUE" & SDTBVD & &9 # =g

D) FQPRIPM

would be

A) FSPRIMO
B) FQPRINO
C) DSRPHPM

& s/ g “EROSION” # frey &9 &
Fifea far Jrwam? |
A)  FSPRIMO

~B)  FQPRINO.

C) . DSRPHPM

* D) FQPRIPM

16

HT @ dfdsfaar

ST ey TR

B e m,umw-'-m
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T @ difehsiaar

Q.No. (57-58). Five friends Asha, -Lata, Meena, Komal & Reena checking their weight on weighing sca,l_e-.

Asha is 5 kg less than Meena & 10 k
Asha.Reena is 3 kg less than Asha.

g less than Komal.Lata is 65 kg & she is 15 kg more heavier than ;

9H. (57-58). @51 AT F d‘:r_"n i wRIAI- IR, e, HeT, F 7 HIA AT AT §13me

_iﬁmﬂs'ﬁm_aﬂtmﬂﬁmthmﬂmﬁaﬁmgmmmmn#wW_

HOF G s ¥ 3 frar w7 ¥

5%

58. -

59.

Who is 2" heavier among the friends?.
Al Asha ‘

B) Meena
C) Komal
D) Lata

Who have 2nd less weight among: the
friends?

A)  Asha :
B)  Reena
C) Komal
D)  lata

Which one will replace the question mark?

A} 39

B) 29
0 45
D). 37

In the following question, a matrix of certain
numbers is given. These numbers follow a

“certain trend, row-wise or column wise. Find

out this trend and choose the missing number
accordingly.

58.

60.

| 57. vt 3t qer st st e e B2

A) e
B)
] HHAA
D) - T
Al . gaU Had FH a9 e
A) e : .
B) fmr
9 Fw _
D) o %

159 s ﬁw.awmmwﬁ:r-mmm

A) 39
B) 29
Cy T 45
D). 3T

Prfafls v # o dent @
Aeww @ 3 A dEAW o RRET

s, FFAR W FRER w1 awe a E

$H Sgfcd @1 ¢ IR dETER MIT weA v

T FXI
;R TV A
% | 16 | 12
| 08| 2 | 18
RiAL 12 3 AT
B) 18 B 18 .
G o 16
D)y 20 : D) 20
: .

i

e i
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PART—C: NUMERICAL APTITUDE
61. A cyclist covers a distance of 750 meter 61. UxF WEHFA Add 750 Hel @ -{.ﬁ Fr 2
in 2 minutes 30 seconds. What is the e 30 A% & TU T ¥, WEET a6
speed in km/hr of cyclist? ; gl
#r fra afa ger & aifa 747 &2
A) 16 km/hr A) 16 .51/ 9 ger
B) 17 km/hr 8) 17 5 ufa g1
C) 18 km/hr O 1afea/ 9y G
D) + 19 km/hr £ D)  19f%#/ ufy "
!
62 Ratio of 750 m and 3 km is 62. 7so#ex T 3fEAL & Jeard Eaci
N R A 3:7
Bl 355 B) 3:5
v e oy o) b L
3 R P B g4
63.  Find the value of 207 + 352 + 332+ 312 - 63. 207+ 352 % 337 4 312 - 342 — 322 — 30° — 28°FT
T S s R _5gl :
34732~ 30° - 28", A TR
A) 250 . A) 250
. B) 252 B . 252
C) 352 Q) 352
D) 342 D) 342
64. The pricesofascooterandaT.V.arein ~ | 64. UF FHeX W6 T iﬂ\ﬁ'ﬁ!ﬂ’ f ot ;O
the ratiq 7 5.0 the scooter. costs s 7 5 ¥ “ﬁﬁhﬂ o B
Rs. 800 more than a T.V. set,_ then the X WL, ey
price ofa T.V. setis: : ; o $_°' 3 ' §i2
: 3 _ $r HrFa gelr
A)  Rs.32,000 : % A ¥.32,000
B)  Rs. 24,000 B) ¥ 24,000
C)  Rs.28,000 Q) 28000
D)  Rs.20,000 D) %.20,000
' e

- 18
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Part—C: Numerical Aptitude

Bis 330_ Kni.-"h train starts from A at

8 am. and travel towards B at 60
km/hr. Another tréi_n 'staFfS'fram Bat?9
a.m. and travels towards A at 75 Km/hr.
At what time do they meet? :

ANO1SIRCS2019 9T 31 JEATHF JEIar
65.  Two trains start from ‘P’ and ‘Q’ 65. ar YamRar 2t fa?ﬁ Foen Ay T wT R

_respectively and travel towards each THEE BRI A g so B/ ey R
other at a speed of S0km/hr and . ' :
Akaft)r respectively. By the time they 40FRHY / HeT 1 THIR A %F_m 8l s
met the first train has travelled 100km AT & 91 59 =T Yeentsar A, ar ggar
more than of the second. The distance T ¥ @Y & 100 R 3 & 0 &
between ‘P’ and ‘Q"is o W F A A
A) 500 km A) . 500 fFaAY.

‘B) 630 km B) 630 fF 30,

C) . 660km Q) 660 fmaL
D) 900km o N R

66. The present value of a certain amount 66. -l;la; @ARTg o F1 ada3s 70w S
sometimes enhances to Rs.1700 and 1700 9T AT ¥ 3K ﬂrﬁ'ffaﬁ'i}t‘ 170 37T
the true discount ‘is ‘Rs.170. The i : : i !
banker's gain is &l aﬂ;{.m &
A)  Rs.20 Al w20
B) Rs.18 B) F18
C) . Rs.17 €l ¥ 47
D) Rs.16 D) w16
R The distance between two cities A and 67.

T T A @ Rt ¥ dw &g 330
FAL 81 U ¢ T R ¥ G 8.00 ot
Taay € FIT #ir 3 60 A ufy 9 Hr
IS A 99 ¥ O e &5 FaE 9.00 T

W R AT A R # 75 fna.

oY g #r Ay ¥ s B e =t v

A g0
B wmnss
QO Ay 2§

‘D) ZuET 1 T
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68. Ram solc! his book for. Rs. 255 and he 68. I & U tﬂ?ﬁi-ﬂ% F 2553 T ar 15%

made a loss of 15%. For how much he : =
: ; _ msﬂsrmgammsssm.mm_a?
‘should have sold it if he wanted to :

'.makeaproﬁtofS%? foro 3r9el W Fr g wgat # agen

Z T2
W) Rs.275 ; ' A %275
'B) Rs:315 e 3 _r B) < g'315
Q) | Rs. 295 g ) . %.295
D)_. Rs.335 = s -~ D) %335
69. ._The ikt i éf a watch was 69. twa wdr v ST A T nﬁma—: A

~ Rs. 720. / ht the sa ; '

i _Rs_ 7_2?_ A man bought the same for a‘r_aﬂ o T ot ol Y
‘Rs. 550.80 after getting two successive B ! : : /
2 = 4 : T 550,80 F @ e wgel AR e H
discounts, "the first being 10%. What -

was the second discount rate? 7§ e 10% MGFagEH SERE b
Ay e R T A 12%

) A =g B 8%
Q)  15% ) = O 15%
D) 18% S D) 18%

: :
170.  What is the number in the unit place in ° 70, (320)° # s v A weaw w2
@R ' | :

A ' ey :

B 9 % : ' ' B 9

Gy | oy

D) 4 ; D) 4

20 ; ; &

T L i s A T S e G .
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71.  Ms. Suchi deposits an amount of
: Rs 24000 16 obtain sir-nple 'inter'eﬁt'at
the rate of 14% p.a. for 8 years. What
tofal émount will Ms. Suchi get at the

end of 8 years?

A)  Rs.52080
B) Rs. 28000
C)  Rs.50880

D) Rs.26880

72. ‘A" walks around a circular field at the
speed of one round/hour, while ‘B’
walks around it at the rate of six

- rounds/hour. They start from the same

point at 7:30 a.m. They shall first cross

each other at:

A) 7:42 a.m.
B) - 7:48am. .
C) 8:10a.m.

D) 830am.

Mr. Deepak invested an amount of

simple interest will be obtained the
total'amount of Rs. 26,350 at the end of
6years? - i

SA) 6% pa
"By s%pa
€ 8%pa

- D) -None of these

|Rs. 21,950 for 6 years. At what rate of

71, A g 14% 919 A% & RO s A

XA 8 At & BT 5 24000 & veOAY
ST ST ¥ 8 a¥ & 3 A Ahwch wh @

A) %.52080
B)  %.28000
€ %.50880
D). ¥ 26880

2. v R AR AW F SEon et U

9 3 o ¥ W R S A &
42 ¥ BF T T ¥ qeit v o g

: ngmoﬁﬂ?ﬂrgwﬁmrajﬂaiw
TE ¥ Aas & A g

A) T 7428

B g 7azE

0w s0Ee

D) e s:30&

|73 o duw A 6 adt & fav v 21,950 &

SR a9 & ¥ A @ . 6 a¥ &y
',W*m;?ﬁ,sst:umma:ﬁv

HUROT =41 & & e gk
—A) exufyad

B), S%Eﬁrﬁ_

O guufr a¥

O g ¥

21
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1000 so that 45 divides the sum exactly
is:

R 10

g) 20 yi?
q-_' 350
D) 80

7.

Part—C: Numerical Aptitude
74. 1f 3 men or 5 women can reap a field in 74, = gfxa qEY AT S Tt o ag & FES FE
43 days, how- long will 5 men apd 6 43 Bt F T TFY ¥ ars R 3 6 fexat
women take to reap it?
: foreey Rt # w1 1 T FER
A)  10days A 1ofE
B)  12days B) 12fe
c) 15 days C) 15 & 2% ;
D)  20days D) ofe _ i
~ 75.  True discount on Rs 3024 due for 6 75 6 @AW A FUY 3024 W A JT I 144§
months is Rs. 144, Thg rate of percent is Sfer ax @ & ' -
A) 6% Ay - 6%
B) 8% B) 8%
C)  10% 0  10% :
D) 12% D). 12% ' ; ;
76. The length of a rectangular plot is twice 76. m{“;{@g &1 wars 35 s fr
its breadth. If the area of the Eol dafr 3§ HAAER 333‘9'33?[ —
rectangular plot is 2592 sq.mtrs, what is = ra L
the Igngth of the rectangular plot? il : pas o o
dFars feast B2
A)  76mtr A e :
B)  36mtr B) 37 :
C)  74mtr 0  7a¥ -
D)  None of these D) s A A AR
77. The smallest number to be added to - dF TEQ O WEar sash 5 1000 #

St ST afs A wew 45 ¥ TR
fasnfora gxer &l '

‘A) 10
B) 20
c) 35
D) 80

22
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78.

7S]

A cylindrical bucket of height 36cm and
radius 21cm s filled with sand. The

_ bucket is emptied on the ground and a
conical heap of sand is formed, the .
~ height of the heap being 12cm. The

radius of heap at the base is-

A)  53cm
B) 63cm -
C) S6cm

D)  Nene of these

‘P” is twice as good a workman as ‘Q’,
~ and together they finish a work in 16

days. In how many days can it be done
by each separately?

A) : 16 days, 24 days
B) 24 days, 48 days

C)  20days, 40days
D) 24days, 16days

A number cons:sts of two digits If the
dsgtts mtemhange places and’ the new
number

is added to the original
number* then the resulting number will
¢ hedwmblebv

78.. i?r#mi’rwamaﬁ;@rﬂmé
XM MBS 2 AA B o Fa
ﬂm.mem}MM'w
12 .#/A. § IR W3 o A e

fareett gt

Al S3WA.

B edah

o . s Fat. : .

D) g A W AE

79. mwmw'#amm%'
aﬂra}a‘rﬁaaﬂwmaahsﬁa’r#w
mﬂ?uﬁ:ﬁmmw Emia;‘rﬁﬁm

Rt A qu A
A 168, 24 R
B) 24@?,48%?
O y0fw, 40 R
D) 24Re, 18R

80. uH HEw A A 3 ¥ IR 3 U aEad
¢ 3R 7 e B q@ FEw ¥ A A e

& ar aftom wawg Rersa den gl
A) 3
B) 5
€9
o 1

23 .- —_—
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81.  Which of the following is always odd? 81. foreeT & W Hla gaver faws gan &2
: A)  -Sum of two odd numbers o A _. & R vt @ apr
B)  Difference of two odd numbers B) 2 fawm wEAH F HR
4 '_ C) Product of two odd numbers - L) a1 fasH gEanstt a;ra‘;um
- D)  None of these '_ -1+ p) A F FIs A6l
82. Find the area of a square whose 82. uw T F ATEA WA Y fomEr FEOT 52
 diagonal is 5V2em. ¥ & .
A 30cm’ ; A) - 30cm?
& 54 cm’ : B) S54cm’ "
Q) 25em’ ' o) 25em’ g
4D Momte ) i3 D) 45cm’
83.  In a flag post, i is red, %is greenand ' |83 wH AT WRE ﬁ,%?ﬂ'ﬁ % %B‘J.T ¥ 3w adr 3
~ the rest is white. If tf]e white part is 7 3 o ¥ Afe g #eT 7 Mo dar & O e
metres long, find the length of the fla T |
PR e ¢ i #1 S @
post. : : 1
A) 16 metres ; A) 16 1.
B) 14 metres : B 1
C)  20metres : i Sy 20 A /|
D)  15metres ' -D) s %
84. ‘A can finish a work in 18 days and ‘B’ | 84,  w R F 18 Rt ﬁ“{" T GFAT &

can do the same work in half the time B A B o & o &

~ taken by ‘A’. Then, working together, : :
: . Fhar ¥ ey o Aeet F1F & B

what part of the sarﬁe_ work they can

finishinaday? . - e _ 36 FH R fwwm 3 o f&s 3 qu
' e . wmwmE
A 16 ' S
B) 1/9 Y : B39 _
Cli - 2)8 b j : o) 2/5 i Dig SV :
D) 2/7 moan "
T : S | R
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f 85 4471471 S isdvisibleby. 85. 49447447 4" P b
| Aloig e - P e A3
RO 8 10
(o S T sefai G5 a0
‘_ Bhief3- ' 2253 D 13
££ 1 TR e price of sugar is increased by 25% 86. = & g F 25% aﬁr afg §g 2 iR U
; e .'and a housewufe reduced her e #Eﬁ## A a A
,E consumption of sugar by 25% and - . e
| - = : safar @ w 3997 =47
B 1 hence her expenditure on sugar, P
| A : femairt.sgﬂ.ﬁélte_l"eq - A fRRwaTE 2
|  B) increasesby6.25% ' B)  6.25%#r gfx
;, ) " decreasasbyGgss . . | S 625%Er FA
; D)  decreases by 2.25% : D) 2-2'_5%@"3?#1"--
} : : - -
3
&
E : = ¢ : . 4 ! ”
l\ : ~ 87. The cost of telephone call_s in an 87. uw e UEX A TP Fia Hr o
! x - industrial town is 30 paise per call for : oy b : ;
i inaustria n.is palse Pe or Wlﬂo | *-%E_ao ﬁuﬁ? a#a:_
s the first 100 caus, zs pause per call for ; : N S
: 5 100 Hfer & T 25 97 9fF Ha M 200 F
i the next. 100 calls and ZU paise per call ~ o :

forcallsexceedmg 200. How manycalls 43T 3"% Fa & w20 87 ‘TFC'T Fa ¥l

can one e for Rs. 50? ; S0 ¥ fav fhast #fd F FFa &2 -
i a9 e AR e
fig o s Sy B 180

& 200 - o 200
0} 225
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88. The daily wage is increased by 35% and 88. A= ;-ﬁq& & qﬁ- 35% g-é- ik m
. a person now gets Rs. 315 per day. - Y,

AFT F 3@ FfAl 315 TC FAaar & 3
What was his daily wage before the ' : S ,
increase? Y Eﬁﬁﬂﬁlﬁ[&w "
700 geb! A " 700 :
/ 8 pei0 SR L bl
O peim - - il e
7 7
ﬁ D 200 _ : b 200
I ) Rs. Py ; ) +. 5

89. . One-man adds 11 litres of water to 14 89. s =afFq 11 offex 9T Fr 14 flieT U # 3R

Ilt . ' 1 " . - . i 4
itres of milk and another 12 litres of. ) 1eT R Y 13 T gy A B 5
water to 1_3 litres of milk. What is the

ratio of the strengths of milk in the two o il CNieidicr T
mixtures? '
Al 13:14 A) 13:14
By~ “14:13 ok B) 14:13
Cf - aavigs : : ShEEE e
B ! D) 12:11 : by g2 4
s': ;
‘ .
% 90. A group of 30 girls has .a\rerage age of 90. 3p gEfFAl F TR aqF #F g g 13 aﬁ

13 years. Average age of first 18 from

gl UH & @ ¥ 9Ea 18 v 311?3;11’{;.15'
af fiweE F I 12w B dtea A

the same group is 15 years. What is the

average age of remaining 12 girls in the

gmup? . et &2
A)  12years : j : A ¥
i . B 10years Rl | 8 1oa%
: ) 16 years '- 35 C) 16T%
i _ D)  10Syears _ : : D) 105a§
26 S L >

hithbo otk s

y R e P P

B A T SR s b b W e

Ansas
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PART-—D ENGLISH LANGUAGE

Choose the correct alternative and fEII in the
blanks. ;
91. Last Monday Annual function

our school.

A) celebrated

B) was celebrating

C) iscelebrated

D) was celebrated

92. The twins were
"A) more
B) very
C) much
D) too

alike.

93. Your position will be valid only when others

it.

A) will accept
. 'B) accept
C) accepts

D) accepted

Rearrange the following parts to obtain a correct

sentence.

94. (1) its best (2) is simply (3) science (4) the
commaon sense at
A) 1,2,4,3
B) 3,2,4,1
) -4:%4.3
D) 2,3,4,1

95. (1) she danced with joy (2) that she had
topped (3) when she had found out (4) the
‘board examination
A) 1,2,3,4
¥8) 1.2

c} 1]’ 3!
D) 2,3

96. (1) explanation about why profits were
lessening (2) in listening to her.(3) was not
interested (4) the Managing Director
A) 4,3,2,1

Fill in the blanks with correct Prepﬁsitions.

97. He was cured
A) with
B) off .-
C) of
D) by

chicken pox.

98. The hunter killed the lion
oef) Dy

B) with

C) for

D) against

a gun.

Rewrite in Reported Speech. Find the correct
answer from the given options: .

.'99. Mother told Geeta, “Do not tamper w:th my

. sewing machine.”
A) Mother told Geeta do not tamper with
her sewing machine.
B) Mother advised Geeta to not tamper with
" her sewing machine.
C) Mother advised Geeta not to tamper with
her sewing machine. - !
D) Mother told Geeta that she should not
tamper with her sewing machine.

Find the correct Antonym for:

100. UNTENABLE
A) Supportable
B) Tender
C) Sheepish
D) Tremulous

101. VACILLATION
A) Remorse
B) Relief
€) Respect
D) Steadfastness

102. GARRULOUS
A) Frank
B) - Reticent
C) Talkative
D) Loquacious

27
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Choose the correct word and fill in the blanks:

103.1 cannot concentrate, here is too much

A) detraction
B) distraction
C) people

OJ contraction

-104.It is expected that the assembly will

these treaties.
A) force
B) ratify
.C} notify
D) check

Find the right analogies:

105. Fond : Doting ::
A) Chide : Pillory
B) Doctrine : Patient
C) Levy: Bavy
D) Time : Search

Fill with appropriate conjunction.

S 106..'She had hardly opened the door

she saw a snake.
A) when

B) than

C) then .

D) but

Choose the correct option to fill in the blanks:

107. The action of annoyed us.
A) her - ; )
B) her's
C) hers
D) she

108. To brush up on a year’s event we can consult -

A) " calendar ; -
B) programme

C) memoir

D) almanac

109. That book of
A) you

is torn.

‘B) yours
C) your's
D) your

Read the given passage and answer the
questions that follow by selecting the correct
options.

Long before we made a tryst with destiny and now
the time comes when we shall redeem our pledge,
not wholly or in full measure, but very
substantially. At the stroke of the midnight hour,
when the world sleeps, India will awake to life and
freedom. '

110. Find é word that does not have a similar
meaning to ‘tryst’.
A) rendezvous ’”
B) appointment o
C). assignation
D) acqhire

111.Find a word from the passage that has the
same meaning as ‘fate’.
A) pledge
B] destiny
C) awake
D) freedom

28 -
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112.Find a word from the passage which is

'opposiﬂte to ‘partially’, -
A) measure

B) substantially

C) wholly

D) stroke

Choose the correct meaning from the given

- alternatives for the given idiurnjphrase;

113. All agog
A) Everybody
B) All ready
C) Restless

D) Almighty

114. Harp on
; A) To comment
B) To keep on complaining
C) To criticize

D) To keepon insultihg

115. Argus eyed
A) Doubtful

'B) Very confident

Find the correct Synonym for:

116. CORPULENT
A) Lean
B) Gaunt
C) Emaciated

D) Obese

11T DAPNTLESS
A) Llazy
B) Modest
C) Bold

D) Poor

Find the word with wrong spelling:

118.A) Feudal
- B) Fumble
q) Fﬁel

D) Feugitive

119. A) Labyrinthine
B) Massacre
C) Mawakish

D) Obstreperous

120.A) Teaser

_ B) Teething
C) Verycalm C) Teatotaller N
D) Careful D) Tedious

=

ST o -3 sTST




IMPORTANT INSTRUCTIONS

TEe P

120 Multiple Choice Questions (MCQ).

serial number of the question in the OMR sheet.: Candidates
giving more than one answer for a question, the answer will be
treated as wrong.

negative marking of 0.25 marks for each wrong answer.
Candidates are. therefore, advised to keep this in mind while
atswering the questions.

4. You will be supplied the OMR Sheet separately by the
Invigilator. You must complete and code the details of Name,
Roll Number and Booklet Number in the OMR Sheet
carefully. You must also put- your signature and Left-Hand
Thumb impression on the OMR sheet at the prescribed place
before you actually start answering the questions. These
instructions must be fully complied with, failing which, your
answer sheet will not be evaluated.

render a candidate liable to such acuom’pcnalty as may be
" deemed fit.

caompletely banned in the examination halls / rooms.
Candidates are advised not to keep mobile phones / any other

off mode, in their own interest. Failing to mn}pu!y with th
. provision will be eonsidered as using unfair means in the

cancellation of their candidature and future debarment from
. appearing in examinations.” :

L Duration of the examination is two (2) hours and there are| 1.

% Candidates are required to mark the correct ansiwer against the| 2.

3. Each correct answer will be given ope (1) mark: There will be| 3.

5. Failure to comply with any of the above instructions will|{ 5.

6. “Mobile phones and wireless communication devices are| 6.
wireless communication devices with them even in switche:dl
is

examination and action will be taken against them including|

wttet 1 it 2t (2) 92 1 Enf au T 120 5@ 0

T #t 3w (ﬁ.w.m)ﬂm%mm%-ﬂﬁaﬁtﬁ
fafia =3 3 o 19 % forg o @ aifirs am 3 9@ aefiean =
IR T A :

weid wE I H1 0w (1) 3% fm s wes e I fa
0.25 3% ¥ THUHF FE4 g gafor, i w® o =
AT 3 70 38 e v A wene & 3

4. Fifms gm e e SR 9EE wem 2 @ Fneh st s
afi # Framae % SqEn s A9 AT, s 6 o gFee
dean arav ford | wedl % 30 ane § s W A e ol uE .
gty Fuffe s § s a9 s s a g S IR =
fFrama oft s wmd) Iww PR o gt we smee s
TR, AT AT ST ) i e )

v fedt oft sgEm o ol 7 w0 W Infear w s
SHrdaTel = 3w & ave o = wa R

“qite wa / HAL A AT I A9 FA0 FAR W L4
Rfig i sofizard &1 373 s e A aom S ot 2 %
HlaTEd G179 / 3= 990 GEN G197 F1 (@9 HiE FF o
TE 7 U6 | §6 A9 FT FI9 T FH R 7087 T sgfaa
T NG AT QT AR I fva wEaE # aof,
Fesftzardt % @t 33wl wfsy § syatfar €1 o aweh
7 afarfi w13 @ afva R amem”

MANNER IN WHICH ANSWERS ARE TO BE GIVEN

required to select the one that comectly answers the question or

Explanation: In the above example, the correct answer is “Sri Lanka’
to be indicated by blackening the circle by Black/Blue Ball Point P

below:
Question No. *20'-

01010 |

correcting fluid 15 prohibited.

All answers must be indicated in the Answer Sheet only.

Directions: Each question or incomplete statement is followed by four| fdw: v w1 s/@a1 ¥eis I F97'F 912 90 I H991 F 64
alternative suggested answers or completions. In each case, you are| T &1 Ve T A e R ) TR 0 e IR e

mmpleles'lhcstatmmmdblackmappmpna&cmrﬁc;& B-Cm'l)by R s s oBe s e WA A, B, C# D =
Black/Blue Ball Point Pen agamst the question concened jn the w1 [ it wFer gz 37 Hwron w

Answer Sheet.
The following example illustrates the manner in which the questions| = 3 mu 32rem & e 8 =on F I g wer A s 3
are required to be answered.
Example: FTET:
Question No. ‘20°- e E. 20°
Delhi is the capital of = foght frm dm frrmwreft 27
A)  SriLanka A) e
B) Bangladesh B) =W
C) Singapore :
D) India C) fmy
D) v

and this answer has been suggested at ‘D’. Accordingly, the answer is| v sy 20" Fawd a7 D’ ¥4 AR ‘:mufq
in column ‘D’ against Question No. ‘20’ in the manner md:cam:l 0 3 AT e R s e

TR I IEEm H, gf I di e dalvaeawm d igmrmtlm

W, 20

ololel 3

There is only one correct answer to each question. You should blacken| nﬁwmm%ﬁﬁﬂﬂﬁmti:ﬂﬂﬁzﬁaﬁaﬂ&%& B,.Cm D%

the circle of the appropriate column, viz. A, B, € or D. If you blacken| rfyemm an =1 #ven w0 21 af2 s fift ot wer & el vs 2 st
more mmmcwdemﬂmmmuomthemmllbe

treated as wrong. Any change/correction in the tespmscs or use of]

TSR @ 1 FTe F01, 91 A9 39 Ted TE1 S 39 w1 g/
TITE 759 1 I afaa 21

You are NOT required to mark your answers in Lth Booklet| st =@ qfem § w193 390 1 fafega =031 A sravmwa W 1 o 3w

S 3o g & §P e Rty -

32 :

&
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pirs e e D
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Time allowed: 2 hrs.
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ANSWER KEY
4. C
50. D
51. D
52, A
53. D
54. B
55. B
56. B
57. €
58. A
59. A
60. A
61. €
62. D
63. B
64. D
65. D
66. C
67. B
68. B
69. C
70. B
71. C
72. A
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